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PART A: Vocabulary

Dfrecﬁum*: Choose the word or phrase (1), (2), (3), or (4) that best completes eufh

sentence. Then mark your answer sheet.

1- Being an honest person, she was unwilling to ---------- Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede

2- The girl is surrounded by so many possessions that testity to her family's -——-------- .
1) opulence 2) activism 3) propensity 4) elitism

3- The physician advised the -------- -- man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese

4- Enlightened slave owners were willing to --——--—- their slaves and thus put an end to
the evil.
1) initiate 2) emancipate 3) efface 4) reject

5- One of the most striking aspects of Indian cultures was the production of ceremonial
costumes and ornaments worn during religious -—--—--- .
1) rituals 2) subtleties 3) fashions 4) prefaces

6- The Clarks’ -~-=-eeeu- spending habits have put them in debt.
1) extemporaneous 2) divisive 3) extravagant 4) passionate

7- The people who had lost their homes in the fire tried to ---------- whatever was
salvageable from the ruins of that fire.
1) confront 2) extinguish 3) exclude 4) glean

8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -—----—- some of Alzheimer’s devastating mind-robbing symptoms,
1) emerge 2) predict 3) alleviate 4) precede

9- Coaches often tell their playvers that a little nervousness is good because it keeps them
on their —-----—--- .

1) limbs 2) toes 3) fingers 4) feet
10- Without liquids or food, people typically -—---—-- after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Like most people. students tend to be overcontident about newly learned skills. This selt-
assessment problem can occur because the common educational practice of “massed training”

promotes rapid acquisition of a skill—and self-confidence—but (11) -=---—---- retention of that
capability. In mass training, instructors teach students in one or a few intense sessions,
Students (12) —--——---- such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidly, (13) --—---—— people remain unaware of this fact.
(14) - more evident than in driver education. Although millions of dollars
(15) -—--——-- on such courses, they do not. the data suggest, produce safer drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4) for no necessary
12- 1) undergo 2) undergone 3) by undergoing 4) undergoing
13- 1) although 2) however 3) so that 4) then
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14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheei.

PASSAGE I:

Kwashiorkor occurs mainly in children 1-3 years of age and is precipitated by weaning an
infant from breast milk onto a starchy, protein poor diet. The name originated in Ghana.
meaning "the sickness of the older child when the next baby is born." It is a consequence of
feeding the child a diet adequate in calories but delicient in protein. It may become clinically
manifest when protein requirements are increased by infection, for example. malaria. helminth
infestation. or gastroenteritis. The syndrome is characterized by poor growth, low plasma
protein and amino acid levels, muscle wasting. edema, diarrhea. and increased susceptibility to
infection. The presence of subcutaneous fat clearly differentiates it from simple starvation. The
maintenance of fat stores is due to the high carbohydrate intake and resulting high insulin
levels.

16- Which of the following most accurately states the main topic of the passage?
1 ) Protein malnutrition 2) Starvation consequences
3) Starve-feed cycele 4) Benefits of breast milk feeding
17-  Which of the following symptoms is NOT observed in kwashiorkor?
1) Increased susceptibility to infection
2) Decreased plasma amino acid concentrations
3) Muscle wasting
4) Decreased subcutaneous fat
18- What does the word "precipitated” in line 1 mean?

[) Inhibited 2) Required 3) Accelerated 4) ustrated
19- Which of the following items can be considered in etiological aspect of
kwashiorkor?

| ) Infections like malaria. helminth infestation. or gastroenteritis
2) Feeding children with a diet adequate in calories but deficient in protein
3) The presence of diarrhea and infection in children
4) High carbohydrate intake and insulin levels
20- Which of the following can the word "The syndrome" in line 6 best be replaced by?
1) Kwashiorkor 2) Gastroenteritis 3) Ghana 4) Infection

PASSAGE 2:

Although the role of NO in the tumoricidal and bactericidal functions of macrophages is
essential in these cells. the overproduction of NO has been implicated in septic/cytokine
induced circulatory shock in humans through the activation of guanvlate cyclase. This
mechanism is responsible for profound hypotension in patients after abdominal surgery or
abdominal trauma complicated by bacterial infections that produce endotoxins. Hypotension in
these patients is often refractory to treatment with conventional vasoconstrictor drugs.
Therapeutic interventions using NOS inhibitors are being examined in gastrointestinal
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inflammatory diseases. such as pancreatitis and ulcerative colitis, and in arthritis. The
development of potent. specific inhibitors of the nitric oxide synthase is an active area ol
research in academia and the pharmaceutical industry.

21-  Which of the following pathways may be involved in the circulatory shock induction
by NO?
1) Tumoricidal and bactericidal drugs
2) Guanylate cyclase activation
3) Abdominal surgery or abdominal trauma
4) Nitric oxide synthase inhibitors
22-  Which of the following can the word ""refractory" in line 6 best be replaced by?

1) Resistant 2) Susceptible 3) Receptive 4) Practicable
23-  With what topic is the passage mainly concerned?

1) Circulatory shock in humans 2) Importance of macrophages

3) Some clinical aspects of NO 4) Conventional vasoconstrictor drugs

24-  Which of the following correctly describes vasoconstrictor?
1) Narrowing of blood vessels
2) Constriction of gastrointestinal lumen
3) Decrease in blood pressure
4) Inhibition of NO overproduction
25-  Which of the following correctly shows the function of NO in macrophages?
1) Cytokine induced circulatory shock 2) Vasoconstriction
3) Tumoricidal and bactericidal functions 4) Profound hypotension

PASSAGE 3:

Major milestones in food digestion studies were the discovery of HCL secretion by the
stomach and enzymatic hydrolysis of protein and starch by pgastric juice and saliva,
respectively. The discovery of gastric HC1 production goes back to the William Beaumont. In
1822 he treated a patient with a stomach wound. The patient recovered from the wound, but
retained a gastric fistula. Chemical analysis revealed. to the surprise of chemists and biologists,
the presence of the inorganic acid HC1. This discovery established the principle of unique
secretions into the gastrointestinal tract. which are elaborated by specialized glands. Soon
thereatier. the principle of enzymatic breakdown of food was recognized. In 1836 Theodor
Schwann noticed that gastric juice degraded albumin in the presence of dilute acid. He
recognized that a new principle was involved and coined the word pepsin from the Greek
pepsis. meaning digestion.

26- With what topic is the passage mainly concerned?
1) Absorption of some food ingredients
2) Some historical aspects of food digestion studies
3) Explanation of biochemical events
4) Protein and starch digestion by saliva
27-  Which of the following definitions best describes the word "fistula' in line 5?7
1) Abnormal broadening or enlargement
2) Abnormal opening through the skin
3) Treatment of gastric wound in a patient
4) Abnormal secretion of the gastric inorganic acid
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28- Which of the following was the source of biological and chemical researchers’
amazement?
1) Presence of HCL in gastric juice
2) Degradation of albumin by gastric fluid
3) Specialized glands involved in enzymatic digestion
4) Treatment of stomach wound
29-  Which of the following can the word "coined" in the last sentence best be replaced
by?
1) Wrote 2) Studied 3) Explained 4) Invented
30- Which of the following compounds were applied by T. Schwann for albumin
degradation?
1) Pepsin from gastric fuids 2) Purified gastric enzymes
3) Gastric inorganic acid (HCL) 4) Gastric juice and dilute acid
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